

## BIVARIATE LUKACS TYPE REGRESSION CHARACTERIZATIONS

KONSTANCJA BOBECKA AND JACEK WESOŁOWSKI

ABSTRACT. Wang (1980) and recently Bobecka (2003) studied bivariate regression versions of the Lukacs characterization. They identified in such a way families of bivariate distributions with gamma marginals. The main result of the present paper is a characterization of a wider family of bivariate distributions (without having necessarily gamma marginals) but still having some Lukacs type regression properties.

### 1. INTRODUCTION

Let  $\gamma_{\lambda,p}$  denote the gamma distribution defined by the density

$$\gamma_{\lambda,p}(dx) = \frac{\lambda^p}{\Gamma(p)} x^{p-1} e^{-\lambda x} I_{(0,\infty)}(x) dx,$$

where  $\lambda, p$  are positive numbers (scale and shape parameters, respectively). The corresponding Laplace transform is of the form

$$f(s) = (1 - \lambda s)^{-p}, \quad s < \frac{1}{\lambda}.$$

Lukacs (1955) proved that if two positive, nondegenerate random variables (rv's)  $X, Y$  are independent and the rv's  $U = \frac{X}{X+Y}, V = X + Y$  are also independent then  $X$  and  $Y$  have gamma distributions with the same scale parameter. Olkin and Rubin (1962) extended this result to matrix valued rv's, with further developments in Casalis and Letac (1996), Letac and Massam (1998), Bobecka and Wesolowski (2002a). Other authors considered similar characterizations of the gamma law by weakening the independence condition to constancy of regressions, mostly in the univariate setting. Such regression versions of the Lukacs theorem were obtained for instance in Bolger and Harkness (1965), Hall and Simons (1969), Wesolowski (1990), Li, Huang and Huang (1994), Huang and Su (1997), Bobecka and Wesolowski (2002b), Chao and Huang (2002).

Here we are concerned with the bivariate situation. We say that a positive random vector  $\bar{X} = (X_1, X_2)$  has a bivariate gamma distribution  $BG(\bar{\lambda}, p)$ , where  $\bar{\lambda} = (\lambda_1, \lambda_2, \lambda_3)$ , if it has a Laplace transform of the form

$$(1) \quad \begin{aligned} E(\exp(s_1 X_1 + s_2 X_2)) &= (1 - \lambda_1 s_1 - \lambda_2 s_2 + \lambda_3 s_1 s_2)^{-p}, \\ \lambda_1 s_1 + \lambda_2 s_2 - \lambda_3 s_1 s_2 &< 1, \end{aligned}$$

where  $p > 0, \lambda_1 > 0, \lambda_2 > 0$  and  $\lambda_1 \lambda_2 \geq \lambda_3 \geq 0$ . Let us note that the set  $\{(s_1, s_2) : \lambda_1 s_1 + \lambda_2 s_2 - \lambda_3 s_1 s_2 < 1\}$  contains  $\{(s_1, s_2) : s_1, s_2 \leq 0\}$ . Thus the Laplace transform (1), due to the analytic extension principle, is uniquely determined by its values for  $s_1, s_2 \leq 0$ .

Characterizations of the bivariate gamma distribution were first considered by Lukacs (1977), Wang (1981) and more recently in Bar-Lev, Bshouty, Enis, Letac, Lu and Richards (1994). They were mostly concerned with bivariate regression versions of the Lukacs theorem. In a recent paper by Bobecka (2003) the problem of bivariate versions of the Lukacs

---

1991 *Mathematics Subject Classification.* 62H05, 62E10, 60E05.

*Key words and phrases.* (bivariate) gamma distribution, constancy of regression, Lukacs theorem, Laplace transforms.

characterization was thoroughly studied. It was shown there that, rather unexpectedly, for independent random vectors  $\bar{X} = (X_1, X_2)$ ,  $\bar{Y} = (Y_1, Y_2)$  having bivariate gamma distributions  $BG(\bar{\lambda}, p)$ ,  $BG(\bar{\lambda}, q)$ , respectively, the rv's  $\bar{U} = (U_1, U_2) = \left(\frac{X_1}{X_1+Y_1}, \frac{X_2}{X_2+Y_2}\right)$  and  $\bar{V} = (V_1, V_2) = (X_1 + Y_1, X_2 + Y_2)$  may not be independent. They are independent iff  $\lambda_3 = \lambda_1\lambda_2$  or  $\lambda_3 = 0$ . Let us note that if  $\lambda_3 = \lambda_1\lambda_2$  then  $\bar{X}, \bar{Y}$  have independent components and if  $\lambda_3 = 0$  then the components of  $\bar{X}, \bar{Y}$  are linearly dependent. Analyzing the proof of the bivariate Lukacs theorem given in Bobecka (2003) it is visible that assuming, instead of independence, five constancy of regression conditions:

$$(2) \quad E(U_j|\bar{V}) = a_j, \quad j = 1, 2,$$

$$(3) \quad E(U_j^2|\bar{V}) = b_j, \quad j = 1, 2,$$

$$(4) \quad E(U_1U_2|\bar{V}) = c,$$

it follows that (as in the case of independence) either

1°  $\bar{X}$  and  $\bar{Y}$  have independent gamma components, i.e.  $X_1 \sim \gamma_{\lambda_1, p_1}$ ,  $X_2 \sim \gamma_{\lambda_2, p_2}$ ,  $Y_1 \sim \gamma_{\lambda_1, q_1}$ ,  $Y_2 \sim \gamma_{\lambda_2, q_2}$ , where  $p_1, p_2, q_1, q_2, \lambda_1, \lambda_2$  are some positive numbers;

or

2° the components of  $\bar{X}$  and  $\bar{Y}$  are linearly dependent:  $X_1 = aX_2$ ,  $Y_1 = aY_2$ , where  $X_2 \sim \gamma_{\lambda, p}$ ,  $Y_2 \sim \gamma_{\lambda, q}$  and  $a, p, q, \lambda$  are some positive numbers.

On the other hand Wang (1981) proved that if the conditions (2) and (3) hold with  $a_1 = a_2$  and  $b_1 = b_2$  then  $\bar{X}$  and  $\bar{Y}$  have general bivariate gamma distributions  $BG(\bar{\lambda}, p)$  and  $BG(\bar{\lambda}, q)$ . However it was observed in Bobecka (2003) that for  $a_1 \neq a_2$  or  $b_1 \neq b_2$  the conditions (2) and (3) characterize  $\bar{X}$  and  $\bar{Y}$  as in the case of independence (see 1° or 2° above). Also other regression characterizations were treated in that paper. Recently the study has been developed further by Chao and Huang (2003).

The present paper is concerned with a more thorough analysis of regression conditions (2-4), with an emphasis on the condition (4), which is complementary to existing results. First we show a non-gamma example satisfying conditions (2) and (4). Then we identify a family of bivariate distributions for which (2), (4) and one of the conditions (3) hold. This family of distributions, which is characterized in Section 2 below, is different from the general bivariate gamma family characterized in Wang (1981). It includes, for instance, distributions of  $(X, Z_X)$ , where  $X$  is a gamma rv independent of a Lévy process  $(Z_t)$ .

It is worth to mention that there are only few results concerning the Lukacs type characterizations in the  $n$ -variate situation. It was shown in Bobecka and Wesolowski (2003a) that for independent random vectors  $\bar{X} = (X_1, \dots, X_n)$ ,  $\bar{Y} = (Y_1, \dots, Y_n)$ , independence of  $\bar{U} = (U_1, \dots, U_n) = \left(\frac{X_1}{X_1+Y_1}, \dots, \frac{X_n}{X_n+Y_n}\right)$  and  $\bar{V} = (V_1, \dots, V_n) = (X_1 + Y_1, \dots, X_n + Y_n)$  characterizes random vectors with independent sub-vectors of linearly dependent gamma components. It was observed there also that the independence condition can be relaxed to analogues of (2-4), that is, to

$$\begin{aligned} E(U_j|\bar{V}) &= a_j, & j &= 1, \dots, n, \\ E(U_j^2|\bar{V}) &= b_j, & j &= 1, \dots, n, \\ E(U_1 \cdots U_n|\bar{V}) &= c. \end{aligned}$$

The same family of distributions has been recently characterized by dual regression conditions, i.e. regressions of powers of  $\bar{X}$  on  $\bar{Y}$  in Bobecka and Wesolowski (2003b).

2. BIVARIATE REGRESSIONS

To analyze regression conditions (2-4) we will use the following bivariate Laplace transform version of Lemma 1.1. from Kagan, Linnik, Rao (1973).

**Lemma 1.** *Let  $f$  and  $g$  be the Laplace transforms of  $\bar{X}$  and  $\bar{Y}$ , respectively, i.e.*

$$f(s_1, s_2) = E(e^{s_1 X_1 + s_2 X_2}), \quad g(s_1, s_2) = E(e^{s_1 Y_1 + s_2 Y_2}),$$

$(s_1, s_2) \in \Delta, (-\infty, 0]^2 \subset \Delta$ . *The regression conditions (2), (3) and (4) are (under appropriate moment conditions), respectively, equivalent to the following differential equations for  $f$  and  $g$ :*

$$(5) \quad (1 - a_j) \frac{\partial f}{\partial s_j} g = a_j f \frac{\partial g}{\partial s_j}, \quad j = 1, 2,$$

$$(6) \quad (1 - b_j) \frac{\partial^2 f}{\partial s_j^2} g = 2b_j \frac{\partial f}{\partial s_j} \frac{\partial g}{\partial s_j} + b_j f \frac{\partial^2 g}{\partial s_j^2}, \quad j = 1, 2,$$

$$(7) \quad (1 - c) \frac{\partial^2 f}{\partial s_1 \partial s_2} g = c \frac{\partial f}{\partial s_1} \frac{\partial g}{\partial s_2} + c \frac{\partial f}{\partial s_2} \frac{\partial g}{\partial s_1} + c f \frac{\partial^2 g}{\partial s_1 \partial s_2}.$$

Consider first the regression conditions (2) and (3), which in terms of  $\bar{X}$  and  $\bar{Y}$  can be written as

$$(8) \quad E(X_j | \bar{X} + \bar{Y}) = a_j (X_j + Y_j), \quad j = 1, 2,$$

$$(9) \quad E(X_1 X_2 | \bar{X} + \bar{Y}) = c (X_1 + Y_1)(X_2 + Y_2).$$

It appears that these conditions are rather far away from being characteristic for bivariate gamma distributions. As the example given below shows there exist even discrete distributions satisfying those three regression properties.

**Example 2.** *Consider independent random vectors  $\bar{X}$  and  $\bar{Y}$  with a common bivariate negative binomial distribution of the form*

$$P(X_1 = i, X_2 = j) = \frac{(i + j + r - 1)!}{i! j! (r - 1)!} p_1^i p_2^j (1 - p_1 - p_2)^r,$$

where

$$p_1, p_2 > 0, \quad p_1 + p_2 < 1, \quad r > 0, \quad i, j = 0, 1, 2, \dots$$

Then their Laplace transforms are

$$f(s_1, s_2) = g(s_1, s_2) = \frac{(1 - p_1 - p_2)^r}{(1 - p_1 \exp s_1 - p_2 \exp s_2)^r} = \left( 1 + \frac{p_1}{1 - p_1 - p_2} (1 - \exp s_1) + \frac{p_2}{1 - p_1 - p_2} (1 - \exp s_2) \right)^{-r}.$$

Thus it is easily seen that

$$\frac{\partial f(s_1, s_2)}{\partial s_j} = r \frac{p_j}{1 - p_1 - p_2} e^{s_j} [f(s_1, s_2)]^{\frac{r+1}{r}} = \frac{\partial g(s_1, s_2)}{\partial s_j}, \quad j = 1, 2,$$

$$\frac{\partial^2 f(s_1, s_2)}{\partial s_1 \partial s_2} = r(r + 1) \frac{p_1 p_2}{(1 - p_1 - p_2)^2} e^{s_1 + s_2} [f(s_1, s_2)]^{\frac{r+2}{r}} = \frac{\partial^2 g(s_1, s_2)}{\partial s_1 \partial s_2}.$$

Now it is immediately seen that the equations (5) and (7) are satisfied with  $a_1 = a_2 = \frac{1}{2}$  and  $c = \frac{r+1}{2(2r+1)}$ . Consequently the regression conditions (8) and (9) also hold.

Observe that the above example can be extended to any bivariate distributions with Laplace transforms of the form

$$f(s_1, s_2) = g(s_1, s_2) = (\phi_1(s_1) + \phi_2(s_2))^p,$$

with suitable functions  $\phi_1$ ,  $\phi_2$  and a real number  $p$ .

Let  $\bar{X}$  and  $\bar{Y}$  be independent random vectors with non-degenerate positive components. Now we complement conditions (2) and (4) with (3) for  $j = 1$ . It can be easily checked that this set of conditions is satisfied for the following families of distributions:

*Case I:*  $\bar{X}, \bar{Y}$  have independent components:  $X_1 \sim \gamma_{\lambda, p}$ ,  $Y_1 \sim \gamma_{\lambda, q}$ ,  $X_2, Y_2$  are integrable and the Laplace transforms of  $\bar{X}, \bar{Y}$  are, respectively, of the form:

$$f(s_1, s_2) = (1 - \lambda s_1)^{-p} A(s_2), \quad g(s_1, s_2) = (1 - \lambda s_1)^{-q} [A(s_2)]^{\frac{1-a_2}{a_2}},$$

where  $A$  is a Laplace transform of  $X_2$ , and thus  $A^{\frac{1-a_2}{a_2}}$  has to be the Laplace transform of  $Y_2$ .

Then it can be checked directly by taking derivatives that (2), (3) for  $j = 1$  and (4) are satisfied with

$$a_1 = a_2 = \frac{p}{p+q}, \quad b_1 = \frac{p(p+1)}{(p+q)(p+q+1)}, \quad c = \left( \frac{p}{p+q} \right)^2,$$

or

*Case II:*  $\bar{X}, \bar{Y}$  are such, that  $X_1 \sim \gamma_{\lambda, p}$ ,  $Y_1 \sim \gamma_{\lambda, q}$ ,  $X_2, Y_2$  are integrable and the Laplace transforms  $\bar{X}, \bar{Y}$  are of the form:

$$f(s_1, s_2) = (1 - \lambda s_1 + M(s_2))^{-p}, \quad g(s_1, s_2) = (1 - \lambda s_1 + M(s_2))^{-q},$$

where  $M$  is a suitable function, such that  $(1 - M)^{-p}$  is a Laplace transform of  $X_2$  and  $(1 - M)^{-q}$  is a Laplace transform of  $Y_2$ .

Then again it can be checked by differentiating that (2), (3) for  $j = 1$  and (4) are satisfied with

$$a_1 = a_2 = \frac{p}{p+q}, \quad b_1 = c = \frac{p(p+1)}{(p+q)(p+q+1)}.$$

Moreover it appears that the above families of distributions are characterized by the regression conditions (2), (3) for  $j = 1$  and (4):

**Theorem 3.** *Let  $\bar{X}$  and  $\bar{Y}$  be independent random vectors with non-degenerate positive components. If the conditions (2), (3) for  $j = 1$  and (4) are satisfied for some real numbers  $a_1, a_2, b_1, c$ , then either*

(1)  $c = a_1 a_2$  and  $\bar{X}, \bar{Y}$  are as in the Case I,

or

(2)  $c \neq a_1 a_2$ ,  $a_1 = a_2$  and  $\bar{X}, \bar{Y}$  are as in the Case II,

where

$$p = \frac{a_1(a_1 - b_1)}{b_1 - a_1^2} > 0, \quad q = p \frac{1 - a_1}{a_1} > 0.$$

The proof of the above theorem is given in Section 3.

We end this section with an example of random vectors  $\bar{X}$  and  $\bar{Y}$  having distributions as in the *Case II*, i.e. such random vectors with dependent components for which the conditions of constancy of regressions (2), (3) for  $j = 1$  and (4) are satisfied

**Example 4.** Let  $(Z_t, t \geq 0)$  be a Lévy stochastic process with  $E(\exp(sZ_t)) = \exp(t\Psi(s))$ ,  $s \leq 0$ , and let  $\bar{X}$  and  $\bar{Y}$  be defined as:  $X_1 \sim \gamma_{\lambda,p}$  and  $X_2 = Z_{X_1}$  and  $Y_1 \sim \gamma_{\lambda,q}$  and  $Y_2 = Z_{Y_1}$ , where  $X_1$  and  $Y_1$  are independent of the process  $(Z_t)$ . Then the Laplace transform of  $\bar{X}$  is of the form

$$\begin{aligned} f(s_1, s_2) &= E(\exp(s_1X_1 + s_2X_2)) = E(\exp(s_1X_1) \exp(X_1\Psi(s_2))) = \\ &= E(\exp[s_1 + \Psi(s_2)] X_1) = (1 - \lambda[s_1 + \Psi(s_2)])^{-p} = \\ &= (1 - \lambda s_1 + M(s_2))^{-p}, \end{aligned}$$

where

$$M(s_2) = -\lambda\Psi(s_2).$$

Similarly, the Laplace transform of  $\bar{Y}$  is of the form

$$g(s_1, s_2) = (1 - \lambda s_1 + M(s_2))^{-q}.$$

### 3. PROOF OF THE MAIN RESULT

*Proof.* From (2), (3) for  $j = 1$  and (4) it follows that  $0 < a_1^2 < b_1 < a_1 < 1$  and  $0 < c < a_1, a_2 < 1$ .

We will consider the Laplace transforms  $f, g$  of  $\bar{X}, \bar{Y}$ , respectively, on  $(-\infty, 0) \times (-\infty, 0)$  (since there  $f$  and  $g$  are analytic we do not need to have any moment conditions imposed). Observe that  $f, g$  and their derivatives are strictly positive on  $(-\infty, 0) \times (-\infty, 0)$ . Then the equations (5), (6) for  $j = 1$  and (7) of Lemma 1 are satisfied for  $s_1 < 0$  and  $s_2 < 0$ .

Differentiating (5) with respect to  $s_i$  we get

$$(10) \quad (1 - a_j) \left( \frac{\partial^2 f}{\partial s_i \partial s_j} g + \frac{\partial f}{\partial s_j} \frac{\partial g}{\partial s_i} \right) = a_j \left( \frac{\partial f}{\partial s_i} \frac{\partial g}{\partial s_j} + f \frac{\partial^2 g}{\partial s_i \partial s_j} \right), \quad i, j = 1, 2.$$

From (6) for  $j = 1$  and (10) for  $i = j = 1$  we obtain

$$\frac{a_1 - b_1}{b_1} \frac{\partial^2 f}{\partial s_1^2} = \frac{\partial g}{\partial s_1} g,$$

but (5) implies that

$$(11) \quad \frac{1 - a_1}{a_1} \frac{\partial f}{\partial s_1} = \frac{\partial g}{\partial s_1} g.$$

Thus

$$\frac{\partial^2 f}{\partial s_1^2} = \frac{(1 - a_1)b_1}{(a_1 - b_1)a_1} \frac{\partial f}{\partial s_1} g,$$

which yields

$$(12) \quad f(s_1, s_2) = A(s_2)(1 + B(s_2)s_1)^{-p}, \quad \text{for } p = \frac{a_1(a_1 - b_1)}{b_1 - a_1^2} > 0.$$

Then from (11) it follows that

$$(13) \quad g(s_1, s_2) = C(s_2) [f(s_1, s_2)]^{\frac{1-a_1}{a_1}}.$$

Inserting (7) into (10) with  $i = 2, j = 1$ , gives

$$(14) \quad \frac{a_1 - c}{c} \frac{\partial^2 f}{\partial s_1 \partial s_2} = \frac{\partial g}{\partial s_2} g,$$

and inserting (7) into (10) with  $i = 1$ ,  $j = 2$  leads to

$$(15) \quad \frac{a_2 - c}{c} \frac{\frac{\partial^2 f}{\partial s_1 \partial s_2}}{\frac{\partial f}{\partial s_2}} = \frac{\frac{\partial g}{\partial s_1}}{g}.$$

From (14) it follows that

$$(16) \quad g(s_1, s_2) = E(s_1) \left[ \frac{\partial f}{\partial s_1}(s_1, s_2) \right]^{\frac{a_1 - c}{c}}.$$

From (5) for  $j = 2$  and (14) we get

$$\frac{a_1 - c}{c} \frac{\frac{\partial^2 f}{\partial s_1 \partial s_2}}{\frac{\partial f}{\partial s_1}} = \frac{1 - a_2}{a_2} \frac{\frac{\partial f}{\partial s_2}}{f},$$

which can be written as

$$(17) \quad \frac{\partial^2 f}{\partial s_1 \partial s_2} f = \frac{c(1 - a_2)}{a_2(a_1 - c)} \frac{\partial f}{\partial s_1} \frac{\partial f}{\partial s_2}.$$

Similarly from (5) for  $j = 1$  and (15) we get

$$\frac{\partial^2 f}{\partial s_1 \partial s_2} f = \frac{c(1 - a_1)}{a_1(a_2 - c)} \frac{\partial f}{\partial s_1} \frac{\partial f}{\partial s_2}.$$

Thus we arrive at

$$\frac{c(1 - a_2)}{a_2(a_1 - c)} = \frac{c(1 - a_1)}{a_1(a_2 - c)},$$

yielding

$$c(c - a_1 a_2)(a_1 - a_2) = 0.$$

Consequently there are the following two cases possible: either *Case I*:  $c = a_1 a_2$  or *Case II*:  $c \neq a_1 a_2$  and  $a_1 = a_2$ .

Denote

$$d = \frac{c(1 - a_2)}{a_2(a_1 - c)}.$$

Then (17) can be written as

$$\frac{\frac{\partial^2 f}{\partial s_1 \partial s_2}}{\frac{\partial f}{\partial s_1}} = d \frac{\frac{\partial f}{\partial s_2}}{f},$$

which yields

$$(18) \quad \frac{\partial f}{\partial s_1}(s_1, s_2) = D_1(s_1) [f(s_1, s_2)]^d.$$

Now we differentiate (12) with respect to  $s_1$  getting

$$(19) \quad \frac{\partial f}{\partial s_1}(s_1, s_2) = -pA(s_2)B(s_2)(1 + B(s_2)s_1)^{-p-1}.$$

Inserting (12) and (19) into (18) we obtain

$$-pA(s_2)B(s_2)(1 + B(s_2)s_1)^{-p-1} = D_1(s_1) [A(s_2)(1 + B(s_2)s_1)^{-p}]^d.$$

Hence

$$(20) \quad D_1(s_1) = -p[A(s_2)]^{1-d} B(s_2) [1 + B(s_2)s_1]^{-p-1+pd}.$$

*Case I*. If  $c = a_1 a_2$  then  $d = 1$  and (20) takes the form

$$(21) \quad D_1(s_1) = -\frac{pB(s_2)}{1 + B(s_2)s_1}.$$

We insert in (21)  $s_2 = 0$  and we put it back into (21). Thus

$$\frac{B(s_2)}{1 + B(s_2)s_1} = \frac{B(0)}{1 + B(0)s_1},$$

which yields  $B(s_2) = B(0) = -\lambda$  for some  $\lambda = const.$  Consequently

$$(22) \quad f(s_1, s_2) = A(s_2)(1 - \lambda s_1)^{-p}.$$

Since the limit of  $f$  for  $(s_1, s_2) \nearrow (0, 0)$  is 1, then by the above equation it follows that  $A(0) = 1$ . Plugging (22) into (13) we have

$$(23) \quad g(s_1, s_2) = C(s_2) [A(s_2)]^{\frac{1-a_1}{a_1}} (1 - \lambda s_1)^{-q},$$

where  $q = p \frac{1-a_1}{a_1} > 0$ . Differentiating (22) with respect to  $s_1$  and putting it into (16) we have

$$(24) \quad g(s_1, s_2) = E(s_1) [\lambda p]^{\frac{a_1-c}{c}} [A(s_2)]^{\frac{a_1-c}{c}} (1 - \lambda s_1)^{-(p+1)\frac{a_1-c}{c}}.$$

Since the limit of  $g$  for  $(s_1, s_2) \nearrow (0, 0)$  is 1 then from (24) it follows that

$$(25) \quad E(0) [\lambda p]^{\frac{a_1-c}{c}} = 1$$

Observe that  $\frac{a_1-c}{c} = \frac{1-a_2}{a_2}$ . On comparing (23) and (24) we arrive at

$$C(s_2) [A(s_2)]^{\frac{1-a_1}{a_1}} (1 - \lambda s_1)^{-q} = E(s_1) [\lambda p]^{\frac{1-a_2}{a_2}} [A(s_2)]^{\frac{1-a_2}{a_2}} (1 - \lambda s_1)^{-(p+1)\frac{1-a_2}{a_2}}.$$

Taking now  $s_1 \nearrow 0$  and using (25) we get

$$C(s_2) = [A(s_2)]^{\frac{1-a_2}{a_2} - \frac{1-a_1}{a_1}}.$$

Hence

$$g(s_1, s_2) = (1 - \lambda s_1)^{-q} [A(s_2)]^{\frac{1-a_2}{a_2}}.$$

Case II. If  $c \neq a_1 a_2$  and  $a_1 = a_2 = a$  then  $d = \frac{c(1-a)}{a(a-c)} \neq 1$ .

a) First we consider  $d = \frac{p+1}{p} = \frac{b_1(1-a)}{a(a-b_1)}$  (then  $b_1 = c$ ), thus (20) has the form

$$D_1(s_1) = -p [A(s_2)]^{-\frac{1}{p}} B(s_2).$$

For  $s_2 \nearrow 0$  it gives us

$$D_1(s_1) = -p [A(0)]^{-\frac{1}{p}} B(0) = D,$$

where  $D = const.$  Hence (18) can be written as

$$\frac{\partial f}{\partial s_1}(s_1, s_2) = D [f(s_1, s_2)]^d,$$

which yields

$$(26) \quad f(s_1, s_2) = [(1-d)Ds_1 + m(s_2)]^{-P},$$

for some function  $m$ . On comparing the above equation with (12) we get

$$(27) \quad A(s_2)^{-\frac{1}{p}} [1 + B(s_2)s_1] = (1-d)Ds_1 + m(s_2).$$

For  $s_1 \nearrow 0$  it yields

$$A(s_2)^{-\frac{1}{p}} = m(s_2).$$

Plugging it back into (27) we have

$$m(s_2)B(s_2)s_1 = (1-d)Ds_1.$$

In the above equation we take  $s_2 \nearrow 0$  which leads to

$$m(0)B(0)s_1 = (1-d)Ds_1.$$

Now we put it back into (26) and observe that  $m(0) = 1$ . We get

$$(28) \quad f(s_1, s_2) = (1 - \lambda s_1 + M(s_2))^{-p},$$

where  $\lambda = -B(0)$  and  $M(s_2) = m(s_2) - 1$  (in particular it yields  $M(0) = 0$ ). Inserting (28) into (13) we obtain

$$(29) \quad g(s_1, s_2) = C(s_2) (1 - \lambda s_1 + M(s_2))^{-q},$$

where  $q = p \frac{1-a}{a} > 0$ . In particular, for  $(s_1, s_2) \nearrow (0, 0)$  it implies that  $C(0) = 1$ . Differentiate now (28) with respect to  $s_1$  and then insert it into (16). Thus we get

$$(30) \quad g(s_1, s_2) = E(s_1) [\lambda p]^{\frac{a-c}{c}} (1 - \lambda s_1 + M(s_2))^{-(p+1)\frac{a-c}{c}}.$$

Observe that  $(p+1)\frac{a-c}{c} = q$ . Comparing (29) and (30) we obtain

$$C(s_2) = E(s_1) [\lambda p]^{\frac{a-c}{c}} = C,$$

where  $C = \text{const}$ . But  $C(0) = 1$ , meaning  $C = 1$  and thus (29) yields

$$g(s_1, s_2) = (1 - \lambda s_1 + M(s_2))^{-q}.$$

b) If  $d \neq \frac{p+1}{p}$  then taking  $s_1 \nearrow 0$  in (20) we get

$$(31) \quad D_1(0) = -p [A(s_2)]^{1-d} B(s_2).$$

Thus (20) takes on the form

$$D_1(s_1) = D_1(0) [1 + B(s_2)s_1]^{-p-1+pd},$$

which implies  $B(s_2) = B = \text{const}$ . Hence (31) implies  $A(s_2) = A = \text{const}$ , and thus

$$f(s_1, s_2) = A(1 + Bs_1)^{-p},$$

which contradicts the assumption that  $\bar{X}$  has non-degenerate components.  $\square$

#### REFERENCES

- [1] BAR-LEV, S.K., BSHOUTY, D., ENIS, P., LETAC, G., LU, I., RICHARDS, D. (1994) The diagonal multivariate natural exponential families and their classification. *J. Theor. Probab.* **4**, 883-929.
- [2] BOBECKA, K. (2003) Regression versions of Lukacs type characterizations for the bivariate gamma distribution. *J. Appl. Statist. Sci.* - to appear.
- [3] BOBECKA, K., WESOŁOWSKI, J. (2002a) The Lukacs-Olkin-Rubin theorem without invariance of the "quotient". *Studia Math.* **152**, 147-160.
- [4] BOBECKA, K., WESOŁOWSKI, J. (2002b) Three dual regression schemes for the Lukacs theorem. *Metrika* **56**, 43-54.
- [5] BOBECKA, K., WESOŁOWSKI, J. (2003a) Multivariate Lukacs theorem. *Preprint*, 1-16.
- [6] BOBECKA, K., WESOŁOWSKI, J. (2003b) Multivariate dual regression schemes for the Lukacs theorem. *J. Statist. Res.* - to appear.
- [7] BOLGER, E. M., HARKNESS, W.L. (1965) A characterization of some distributions by conditional moments. *Ann. Math. Statist.* **36**, 703-705.
- [8] CASALIS, M., LETAC, G. (1996) The Lukacs-Olkin-Rubin characterization of Wishart distributions on symmetric cones. *Ann. Statist.* **24**, 763-786.
- [9] CHOU, C.-W., HUANG, W.-J. (2002) Characterizations of the gamma distribution via conditional moments. *Sankhyā, A* - to appear.
- [10] CHOU, C.-W., HUANG, W.-J. (2003) A note on characterizations of the bivariate gamma distribution. *Preprint*, 1-18.
- [11] HALL, W.J., SIMONS, G. (1969) On characterizations of the gamma distributions. *Sankhyā, A* **31**, 385-390.
- [12] HUANG, W.-J., SU, J.-C. (1997) On a study of renewal process connected with certain conditional moments. *Sankhyā A* **59**, 28-41.
- [13] KAGAN, A.M., LINNIK, YU.V., RAO, C.R. (1973) *Characterization Problems of Mathematical Statistics*. Wiley, New York.



- [14] LETAC, G., MASSAM, H. (1998) Quadratic and inverse regressions for Wishart distributions. *Ann. Statist.* **26**, 573-595.
- [15] LI, S.-H., HUANG, W.-J., HUANG, M.-N.L. (1994) Characterizations of the Poisson process as a renewal process via two conditional moments. *Ann. Inst. Statist. Math.* **46**, 351-360.
- [16] LUKACS, E. (1955) A characterization of the gamma distribution. *Ann. Math. Statist.* **26**, 319-324.
- [17] LUKACS, E. (1977) A characterization of a bivariate gamma distribution. In: *Multivariate Analysis-IV*, North-Holland Publishing Co., Amsterdam, 119-128.
- [18] OLKIN, I., RUBIN, H. (1962) A characterization of the Wishart distribution. *Ann. Math. Statist.* **33**, 1272-1280.
- [19] WANG, Y. (1981) Extensions of Lukacs' characterization of the gamma distribution. In: *Analytic Methods in Probability Theory* Lect. Notes in Math. **861**, 166-177, Springer, New York.
- [20] WESOŁOWSKI, J. (1990) A constant regression characterization of the gamma law. *Adv. Appl. Prob.* **22**, 488-490.

WYDZIAŁ MATEMATYKI I NAUK INFORMACYJNYCH, POLITECHNIKA WARSZAWSKA, PLAC POLITECHNIKI  
1, 00-661 WARSZAWA, POLAND

*E-mail address:* bobECKa@mini.pw.edu.pl, wesolo@mini.pw.edu.pl